51336000 gs3mEol bodmdo MBsweglio smgds@olzol Lagwdgzangddo

1. 350mm35¢go 24 — 3B, bssg A = (_31 :Z _61)’ B = ( 3 -3 1)

2x+2y=4
2. 50mbligboo g3bBHMEgdsms LolBHYds | y—z =0
x—2z=-1

3. 8950030690 4(2; 1) §9BEowbg 3x + 5y — 6 = 0 FOGFOL 35M5IEIMMHSQ 353535¢00
POx80L 356EHMmgds.

4. 9950030690 A(1; —1) HgOEowdg 3x + 6y — 4 = 0 §H5OL FsOGOMIMESE 353535¢0
POxz0L 356EGHMmgds.

5. 03mggo dsbdoero A(1;2) FgdEGogosb 5x + 12y + 4 = 0 {x99w9.

6. 0339 3Mobg 5x + 3y — 9 = 0 s 3x — 5y — 7 = 0 §iOHxgggdL dmGob.

7. 350mmz5¢mgm d0dg3hmdol bmgsto Lim 10n% —n—2
n

S0 5nZ+9n-7

12
8. 290mmzsemgm dodgzmmdols bmgsto Lim (1 + ﬁ) "
n—oo

x%-49
x—7

9. 250mm33¢mgm Bw964300L B3O Lirgl
xX—

x—4, x<1
10. 03,390, 898ga0 BBI300L Fy30d0b FadBHowo f(x) = {x —7, x>1

x+2 x<1

11. 03mggm g3vybdizool bsb@mdo x = 0 {gOGHowdo, vy f(x) = {x +4 x>1

12. a 356539@®olL s 3609369 mdolismzol 0dbgds 31bds0s MHiy39@0, 0
[105) _{a+2x, x<1
T R2x+4 x>1

13. 03mggoe f'(1), 00 f(x) = 2x3 + 222 — 9x + 11
14. 358035¢0gm fol 12xdx

15. g58mm35¢mg0 898090 F0Mgd00 8g3mlss L3O o Bogol GoMmmdo: y = 8x;y =
O;x=1



16. 53m®gdgb ™M 35Tsmgl.  godmmzsErgm  JeslogMo  sEdsmMds  0dols, O3
350500gddbg  Bbe 0GOS X530 5O 50gdoEgds 7-b.



